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Which I/O port belongs to LPT2?

A     378H

B     278H

C     3f8h

D     2e8h

Answer : B 

Which device is on IRQ 6?

A     Keyboard

B     IDE

C     Floppy drive

D     None of the above

Answer : C 

The 34-pin connection on an I/O card is for?

A     Floppy drive

B     SCSI drive

C     IDE drive

D     Zip drive

Answer : A 

What type of FRU is a SCSI host adapter?

A     CPU

B     I/O card

C     Video card

D     Hard drive

Answer : B 

In inkjet technology the droplets of ink are deflected by?

A     Electrically Charge Plate

B     High pressure jets

C     Multi directional nozzle

D     None of the above

Answer : A 

Which component stores an electrical charge?



A     Diode

B     Rectifier

C     Capacitor

D     Resistor

Answer : C 

What do you need to check serial and parallel port?

A     Port adapter

B     Logic probe

C     Loopback plug

D     none of the above

Answer : C 

What is full name of AMD?

A     Advanced Micro Devices

B     Automated Micro Devices

C     Advanced Mini Devices

D     None of these

Answer : A 

Which is the processor suitable from intel family of processors for Server and Workstation?

A     intel Xeon

B     Intel 4040

C     MCS-4

D     Intel 4004

Answer : A 

How many tracts and sectors found in a normal floppy dick?

A     80 tracks and 18 sectors.

B     18 tracks and 80 sectors.

C     8 tracks and 18 sectors.

D     80 tracks and 8 sectors.

Answer : A 

To find out how much memory is available, you could type _________

A     EMM

B     MEM

C     CHKDSK



D     MEMMAKER

Answer : B 

Topically, how many type III PC cards can you insert in a laptop

A     1

B     2

C     3

D     4

Answer : A 

Which is the easiest component to environmentally recycle?

A     Motherboards

B     CMOS batteries

C     Toner cartridges

D     Cathode ray tubes

Answer : C 

Which values are held in CMOS for the hard drive?

A     Size (heads, cylinders, sectors)

B     IRQ

C     Free space

D     Virus alert

Answer : A 

How does a parallel port communicate information to a peripheral device?

A     One bit at a time

B     8 bytes at a time

C     One byte at a time

D     256 bytes at a time

Answer : C 

RS-232 is a standard that applies to?

A     Parallel port

B     Serial port

C     Combine Port

D     Game Post

Answer : B 



Which part of the laser printer should NOT be exposed to sunlight?

A     Transfer corona assembly

B     PC drum

C     Primary corona wire

D     Toner cartridge

Answer : B 

The ATAPI compliance is stands for?

A     CDROM

B     Bus mastering

C     Mass storage device

D     None of the above

Answer : C 

What does the acronym RTS represent?

A     Required to save

B     Ready to start

C     Request to send

D     Right to separate

Answer : C 

What is the best ground for a conductive work bench?

A     AC outlet

B     Ground to bend

C     To another device

D     Chassis ground

Answer : A 
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